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#E- . (15 4)

At 0°C 20 g ofice are added to 70 g of water at 30°C in a vessel. Calculate the entropy changes
in the system and in the surroundings. The heat of fusion of ice at 0°C is 6.02 kJ mol”, and the
specific heat capacities of water and ice may be take as constant at 4.184 and 2.094 JK'g™,

respectively, and independent of temperature.

w0 (10 4)
A sample of milk kept at 25°C is found to sour 40 times as rapidly as when it is kept at 4C.

Estimate the activation energy for the souring process.

e o (10 4)

A substance 1.5 mol dm™ decomposes at 600 K with a rate constant of 3.62 x 10° dm® mol's™.
a. Calculate the half-life of the reaction.

b. How does the time required for the substance was decomposed go to 95% at 600 K ?

FAET . (10 ~)
The variation of the equilibrium vapor pressure with temperature for liquid and solid chlorine in
the vicinity of the triple point is given by

In P, =-2661/T + 22.76

In Py =-3755/T +26.88
Use P/pascal in equations. Calculate the triple point pressure and temperature.

A (16 4)

One moles of oxygen gas at 298 K is compressed isothermally and reversibly from an initial
volume of 10.00 dm’ to a final volume of 0.50 dm’. Calculate the work done on the system if
a. The gas i1s ideal.
b. The equation of state of the gas is P(Viy— b)=RT, with b=0.0318 dm’ mol™.



